
A AbleitungenMit � 0i = �i ��tpre und ��0 = ��+ 2��tprefD folgt aus Glei
hung (16)P (fD;�t;��0) = N=2�1Xi=�N=2Rie� (�i��t)22b2R 
os(2�fD� 0i +��0) (20)�P�fD = � N=2�1Xi=�N=2 2�Ri� 0ie� (�i��t)22b2R sin(2�fD� 0i +��0) (21)�2P�f2D = � N=2�1Xi=�N=2 4�2Ri(� 0i)2e� (�i��t)22b2R 
os(2�fD� 0i +��0) (22)�P��t = N=2�1Xi=�N=2Ri �i ��tb2R e� (�i��t)22b2R 
os(2�fD� 0i +��0) (23)�2P��t2 = N=2�1Xi=�N=2Ri �(�i ��t)2b4R � 1b2R � e� (�i��t)22b2R 
os(2�fD� 0i +��0) (24)�P���0 = � N=2�1Xi=�N=2Rie� (�i��t)22b2R sin(2�fD� 0i +��0) (25)�2P���02 = � N=2�1Xi=�N=2Rie� (�i��t)22b2R 
os(2�fD� 0i +��0) (26)�2P�fD��t = � N=2�1Xi=�N=2 2�Ri� 0i �i ��tb2R e� (�i��t)22b2R sin(2�fD� 0i +��0) (27)�2P�fD���0 = � N=2�1Xi=�N=2 2�Ri� 0ie� (�i��t)22b2R 
os(2�fD� 0i +��0) (28)�2P��t���0 = � N=2�1Xi=�N=2Ri �i ��tb2R e� (�i��t)22b2R sin(2�fD� 0i +��0) (29)


